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1. If the distance of a point from a positive charge increase, the value of
the potential at the point
a) Increase b) decrease c) may increase or decrease d) remain

the same

g o 3awT § faret foig @1 gt g ot 8, <t fofg R fava &1 7m
a) T ghdig b) Te Thdl &
) €YY HhAIR OERRGA

2. Two charges spheres are separated at a distance d exert a force F on each other. If
charges are doubled and distance between them is doubled then the force is

(a)F (b)F/2 (c) F/4 (d) 4F

Gl 3T a7l TMd Ueh gk O d G UR U Q¥R WR F 9 e TTdl & | af Saxi &l
T B T oY 3R IS e Y gl S R & SITE Y &t B

(a)F (b)F/2 (c) F/4 (d) 4F

3. The relation between electric field E and potential Vis _____
E=-dV/dx

E=dV/dx

V=dE/dx

V=dE/dv
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a. E=-dV/dx
b. E=dV/dx
c. V=dE/dx
d V=dE/dv
. A positively charge glass rod attract an object. The object must be
(a) Negatively charged (b)neutral
(c) either negatively charged or neutral  (d) a magnet
TS YA Bid Bt TS bl ¥ BT AT Bl 8| IX BT A8y
(a) 0T SR (b) STATATRI
(c) 0T TR AT AR (d) T gD

. If a dielectric be introduced between plates of a parallel plate capacitor

then the value of its capacitance-
a)Decreases b)Increases
c)Remains same d)None

& Uh THR Wi GUTRA &1 wWie| & did T WRIaggd STal o o 39T 1Rl
b HI-

a) UeaT® b) Gl &
¢) IEI BT 8 d) P13 el
. Ohm’s law is valid when the temperature of conductor is :
(a) very low (b) very high
(c) varying (d) constant
3111 %1 FgH 99 A=A 1T § ofd ITce ST dAIAF |1 § -
(a) SEd PH DERSEIRES
(c) TRacH et (d) RR
. The example of a non-ohmic resistance is:
(a) copper wire (b) filament lamp
(c) carbon resistor (d) diode
R-3Mferes TfaRiY 1 JeTerur
(a) A8 & AR (b) fopamie o
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8. Kirchhoff’s first and second laws for electrical circuits are consequences of:
(a) conservation of energy
(b) conservation of electrical charge and energy respectively
(c) conservation of electric charge
(d) neither conservation of energy nor electric charge

faggd uRudl & fo fhzaits & ugd SR g Fam & uRum g
(a) Sl DT &N
(b) SPHRT: GG SHTAT SR Solf 1 IR&
(c) faGgd MTareT T ERETUT
(d) T Y STl ST TREUT 3R A1 &1 faggd 3Taer 1 AReTor

9. The number of electrons for one coulomb of charge is

(a)6.25 x10™® (b)6.25 x10*

(c)6.25 x10** (d)6.25 x10%
TH G TR & [T SIS 1 1 U §

(a)6.25 x10™® (b)6.25 x10*

(c)6.25 x10%* (d)6.25 x10%

10. A charge Q is enclosed by a Gaussian spherical surface of radius R. If the radius is
doubled, then the outward electric flux will be

(a) decreases to half (b)increases four times

(b) (c)remains unchanged (d)doubled
T 31T Q AT R B T T3 MATHR ¥ds 3§ f’R1 8 | afe B &1 SRAT R
fear ST, 4 16t fagygd varg grm

(a) TEhR 3T E ST & (b) IR TAT §¢ AT §

(c) 3aRafdd Tgar g (d) SR BT ST §

11. The specific resistance of a rod of copper as compared to that of thin wire of copper
is
(a) Less (b) more (c) same
(d) Depends upon the length and area of cross-section of the wire
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die & Udd dR &1 a1 § did &1 38 &1 [aRIy ufeRkie 8:

(a) PH (b) 3ifere (c) @&
(d) TR & TR Bl &7 iR g WRFRarg

12. The Sl unit of the electric flux is
(a)T (b)N (c)V (d)Vm

faggd TRTa &1 51 A5 §

()T (b)N (c)V (d)Vm

13. A wire P is half the diameter and half the length of a wire Q of similar material. The
ratio of resistances of P to that Q is:

(a)4:1 (b)8:1

(c)2:1 (d)1:2
T dR p JHM JTHUT a1 R Q & T BT YT 3R dals BT MMETT I P 3R QP
gfeRIe &7 3T B:

(a)4:1 (b)8:1

(c)2:1 (d)1:2

14. Name the material which give less resistance with increase in temperature
a) Gold b) silver c) silicon d) murcury

39 et ST A1 FdT3U S IT9HH H g & 1Y HH UfRiY Sar |
(a) T (b) Tl (o) RAfIB (d) RSB

15. An electron enters perpendicular to a uniform magnetic field. The path of the electron
will be :
a) Circular
b) Parabolic
C) Linear
d) Spiral
TP S UHTHM 9o 1 &F & dadd WA=l HRdT ¢ | SAdeH o1 T §HTI:

a) il
b) IRAAAD
o) XRa®
d) afta
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16.

17.

18.

19.

If Ea be the electric field strength of a short dipole at a point on its axial line and’ Ee’
that on the equatorial line at the same distance then
(a) Ee=2Ea  (b)Ea=2Ee (c)Ea=Ee (d) none on these

TS ‘Ea’ 3T 3Heffa T IR U foig R U Bie fggydia &t faggd e o arwa |l
3R ‘Ee’ THM g R YAL TR g al

a)Ee=2Ea  (b)Ea=2Ee  (c)Ea=Ee (d) 3TH A DI ol

Two parallel conductors carrying current in the same direction will
a) Attract each other
b) Repel each other
C) Neither attract nor repel
d) None of these

T gl o= & YRT Ya1ed B a1dl &l YHHIGR I g

a) U QX DI 3B A Bt
b) U &R ) Ui it
o) A BT T 3R A E vl Het

d) 3TH T BIs B

The unit of capacity of a capacitor will be

a) volt

b) newton
) farad

d) ampere

U GYIIRA P YT BT AFS T
a)aal?c'

b) e
c)m

d) TR

According to Ampere's circuital law
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20. A charge (g) is moving in a uniform magnetic field (B) such that velocity (v) is
perpendicular to B, then the force acting on charge is :

a) Zero
b) qvB

C) gB/iv
d) None

Ueh AT (q) Uob A G 1d & (8) H A 616 91 fob 91 (v) S b
dad g, dl 3T R e a1 99 6:

a)Zero

b)qvB

c)qB/v

d) 399 Y BIs e

21. The expression for Lorentz Force is
(a) F=qE (b) F=q(BxV)
(c) F=q[E+(V*B)] (d) F=[qE+(VxB)]
AR go7 & foru i §
(a) F=qE (b) F=q(BxV)
(c) F=a[E+(V*B)] (d) F=[qE+(VxB)]

22. What is the value of angle of dip at the magnetic equator?

a) Oe
b) 900
C) 450
Nearly 30°

gaaﬁnﬁgaa%@mw I T HH FT 81l 82
a) 0°

b) 900

b) 450

c) CNTHIT 300

23. What is the angle of dip at a place where the horizontal
component of earth’s magnetic field is equal to the vertical
component?

a) 0°
b) 30°
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d) 90°

O RIM R 928t & Jaa i & o1 &fdsl gedh IWMER 9eh & avl6R §, 39 R

TR 9 HI0T R g2
a) 0°
b) 30°
c) 45°
d) 90°

24. The magnetic lines of force inside a bar magnet:
a) do not exist
b) depends on area of cross-section of bar magnet
c) are from N-pole to S-pole of the magnet
d) are from S-pole to N-pole of the magnet.

TS B8 gaP & 3R §0 &I JIPHIT QT
a) HINIG 81 &
b) SR Gu & ITIRT HIc & & R MR a1 g
C)W%N—%ﬂﬁ&%ﬂﬁ%
d) IS & s-Yd A N-Yd dP ¢ |

25. Magnetic element of earths are
a) lron, nickel and cobalt
b) Aluminium, silver and gold
c) Three quantities that describes magnetic behaviour of the earth
d) None of these

gedl & Y Ig dd &
a)digT, FPpd 3R Bldlee

b) TR, Tidl 3R I
o) T o gt & Jah i TagR HI gl el o

ERE R CAFR ]

26. A 50 mH coil carries a current of 4 A, the energy stored in it in joule in :
a)0.4) b) 4) c) 8 d)0.04)

T 50 mH geeh H 4 A DT YRT I &, T9H o[ H YUGId Bl aldll o:

a)0.4 b) 4 c) 8J d)0.04J
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27. The polarity of induced emf is found by
a) Biot Savert law b) flemimg’s right hand rule
b) c)Lenz's law d) Ampere’s circuital law
URA AT a8 9ol BT Yadm v gRT UTS Sl §
a)STIe Ya< o1 oy b) TRITEH &1 TI BT HT e
¢) I+ 1 fram d) TR &1 gikuy fAag

28. A proton, a deuteron and an a- particle have equal kinetic energies. Compare the
radii of their paths when a normal magnetic field is applied.

(a) [ 2:v/2: 1] (b) [ 1:v/2: 1]
() [1n2:2] (d)[1:1: 1]

TP e, T SIS 3R TS o-HU1 & HH TS SHoild gid & | 516 Th ITH=I
D & TN ST & o) 3-b T & a1 1 g1 de |

a) [2:/2:1] (b) [ 1:v/2: 1]

(c) [ 1:v/2: 2] (d)[1:1:1]

29. A current of 10 A is passing through a long wire which has semicircular loop of the
radius 20 cm as shown in the figure. Magnetic field produced at the centre of the
loop is

20cm
10A

(a) 10muT (b) 5mtuT
(b)  4muT (d) 2muT

10A P YRT TH d AR I ToR g1 & ord 20 I o1 &1 SrefaiedR U g o
fo fort o feamar o B 1 U & g B SUF 1T & 8

20cm
10A

(a) 10muT (b) 5tuT

(c) 4muT (d) 2ruT

https-fbyijus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

EBYus

The Learning App

30. A current of 2A flows in a system of conductors as shown in fig. The PD (V- Vg) will

be:
(a)+2v (b)+1V (c)-1v (d) -2V
5 A
20 30
D C
2A
3Q 2Q
B

HToTeh] b1 Th YUTTH H 2A 1 YRT YdTed 8idl & o fob o & e man g

faaT=R (Va- Ve) BT
S A
2Q 30
D C
2A
3Q 2Q
B
(a)+2v (b)+1V (c)-1v (d) -2V

31. Why is the Wheatstone bridge more accurate than other methods of measuring
resistances:
(a) It is a null method
(b) It is based on Kirchhoff’s laws
(c) It has four resistances
(d) It does not involve ohm’s law

AR 1 A0 & 37 RIP! D1 g1 8 Glewe A ool 3% Teied &l g:
(2) T8 U LA fafdl g
(b) TE TRl B TR TR §
(c) 9P IR TIRIY E
(d) 3T 37w 1 g it TEi 8
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32. Three equal capacitors, each with capacitance C are connected as shown in figure.
Then what is the equivalent capacitance between A and B

(a) C (b) 3C (c)C/3 (d)3C/2

A——|C|——| L

C C

& T GuiE, Ul @ &R ¢ Iqrd IS gU & o o o & feamar mar g
I A 3R B. & ol geg YIRAT AT B2

C
|
I

|
A |

O
o—

(@) C (b) 3C (c)C/3 (d) 3¢/2

33. In the basic CsCl crystal structure Cs* and ClI" ions are arranged in a bcc configuration
as shown in the fig. the net electrostatics force exerted by eight Cs* ion on the Cl ion
is
CsCl foheed TREAT H Cs+ 3R Cl- ST BT bee [a-aT H rafyd foam ST g o
fop o A fe@man TR C1- ST IR 378 Cs+ ST GRT TN 72T gt RR AT

Cs

cs™*
EK 2
+ +
1 a0 Cs \ Cs
(a) s j\“x \\ s
4meg 3a? T
0 e g
(b) 1 16e? @fx
418y 30Q2 cst Fa \\:“m o) et
1 32e2 —t—¢
(c) \
4mey 3a? CS+C/ G

cst

(d) zero
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34. What is the angle between electric field and eqgipotential surface

(a) 90° always (b)0"always
(c) 0° to 90° (d) 0° to 180°
fagya & 3R JHfava Tdg & o ST HIv 1§
(a)90° GHI (b)o" BHE
(c) 0° to 90° (d) 0° to 180°

35. When a magnet is moved with its N-pole towards a closed coil, the nearer end of the

coil acts as :
a)North pole b)South pole
c) positive charge d) negative charge

Od U P DI SHD N-8d P 1Y I HUST PI 1R o ST STl &, ol Husall
&1 Faead RR1 39 UHR S aRdl 6:

a) T 4 b) Gf&foft ¢a
¢) YATHSD 3TAY d) BUMTHD 3
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I Ui & IR Fad g

FA35 TN R

TS U & fo1e 1 3 RuiRd g1

Td% Uy & IR fawey &3 M B

T2 fdhed o1 I8 BT

TTAd IR & ol PIS 3idh T8l b1 ST |

VV VYV VYV

1. Two charges of equal magnitudes kept at a distance r exert a force F on each other, if
the charges are halved and distance between them is doubled then the new force
acting on each charge is
(a) F/8
(b) F/4
(c) 4F
(d) F/16

& r IR I A IRATU % Y ST T SR TR F §6 I &, A ST Y 31e1 R
3T ST § 3TR I offd Bt gl SN R &1 el &, < Ui SHTA=T IR @ aTell 71 9l
?

a) F/8
b) F/4
c) 4F

d) F/16

2. Which one of the following is the Sl unit of electric field?
(a) Coulomb
(b) Newton
(c) Volt
(d) N/C
Fafafed & 9 3 fdggd &3 31 51 3T o°

(a) Coulomb
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(b) Newton
(c) Volt
(d) N/C

3. When an electric dipole is placed in uniform electric field it experiences
(a) a netforce
(b) atorque
(c) both a net force and torque
(d) neither a net force nor a torque
e U faayd f4a o1 v g ey &% & 3@ a1 & ol I8 SfHa Bl 8
a) UP R ol
b) TP Meel Fel
C) U Y& T MR T gl T
d) T TP YG T R AT g1 Mmegof
4. 1V equalsto
(a) 1J
(b) 1C/1J
(c) 1J/1C
(d) 1JC

1V ST}

(a) 1J
(b) 1C/1J
(c) 1/1C
(d) 1JC

5. If adielectric slab Is introduced in between the two plates of a parallel plate
capacitor then its capacitance
(a) increases
(b) decreases
(c) remains same
(d) becomes zero

IS Ueh TR Wie JeTRA B & @il & ol Th WRIdegd ued! STal SIrdl § al 39t
JIIEG]]

a) Sgiig

b) PHAG I ®
) dBIEATT
d) YLABIAIg
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6. The value of absolute permittivity of free space is
(a) 8.854 x 10 C°N'm™
(b) 8.854 x 10" C°N'm™
(c) 8854 x 102 C*N'm™
(d) 8.854 x 10> C°N'm™

frafa R B FARUe TR BT A 8
(a) 8.854 x 10 C°N'm™
(b) 8.854 x 10" C°N'm™
(c) 8854 x 102 C*N'm™
(d) 8.854 x 10> C°N*m’

7. Inaregion of constant potential
(a) The electric field is uniform
(b) The electric field is zero
(c) There can be charge inside the region
(d) The electric field shall necessarily change if a charge is placed outside the region

e favg & @ |
a) faggd &3 99 811 7|

b)fdegd & I B
¢)8F P 373 TS! [T off Tebell §

d)fdggd & SfHard U g U afe B A &5 P e’ @ MY

8. Which one is the not correct expression for energy stored in a capacitor
(a) % CV?
(b) @*/2C
(c) »QV
(d) Qv?
et o dfad S & fore 19 a1 sdoie a8 6l @

(a) % CV?
(b) Q*/2C
(c) »QV
(d) Qv

9. Sl unit of electric flux is
(a) N/C
(b) J/C

https-fbyijus.com
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(c) NC'm?
(d) NC'm
Iy TRt &1 51 AT §
(a) N/C
(b) J/C
(c) NC'm?
(d) NC'm

10. The surface considered for Gauss’s law is called
(a) Closed surface
(b) Spherical surface
(c) Gaussian surface
(d) Plane surfaces

1 & T & g W1t o aTeft 9ag bedrd o
a Joiq Hag
b)JMATHR Tdg
ORISR

d)gHd ddg

11. An electric charge q is placed at the centre of a cube of side a, the electric flux on
one of its faces will be
(a) a/6eo
(b) a/ £0a’
(c) q/Ameqa’
(d) a/eo

T [T AT o P YT a P T % g & T 18, 5D U el W [IGgd betat
Al

(a) a/6go
(b) a/ &0a’
(c) q/4meqa’
(d) a/eo

12. Ohm’s law is followed by
(a) Conductor
(b) Semiconductor
(c) Insulator
(d) Both (a) & (b)

https-fbyijus.com
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& TAD
(b) srg=meid
(c) BaTerd
(d) &Y (2) 3R (b)

13. Drift velocity Vq varies with the intensity of electric field as per the relation
(a) V4o E?
(b) Vqox 1/E
(c) V4 x constant
(d) Vg E

§ETd AT vd FaY & SR faggd &= Bt fad1 & 1Y seadiedar s

(a) V4o E?

(b) Vg o 1/E

(c) V4 x constant
(d) Vg E

14. Kirchhoff’s junction rule is based on conservation of
(a) Mass
(b) Charge
(c) Energy
(d) None of these

forare o1 4fd oy fardes TRemn w et g2
(a)xFHTH
(b)aarer
()l
(d)3TH DTS 6T

15. Kirchhoff’s loop rule is based on conservation of
(a) Mass
(b) Charge
(c) Energy
(d) None of these

https-fbyijus.com
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(a)KHHIT
(b) amer
()l

(d)3TH A DS el

16. The resistivity of material of a conductor depends on
(a) Length
(b) Area of cross section
(c) Temperature
(d) None of these

et =rereh & Uard @) ufadierear ek et @
(a)cfaTS

(b)ergorea wre T &

(c)dTHHTT

(d)STH Y DIS Tl

17. If n cells each of emf E and internal resistance r are connected in parallel then the

total emf and internal resistance will be

(@) E, r/n

(b) E, nr

(c) nE, r/n

(d) nE, nr
I n VA UAD Ay ared 9ot ‘E’ SR SR iRy ¢ TR S gug ot
S faed aed ot 3R SHTARD UfeRIY g

(@) E, r/n

(b) E, nr

(c) nE, r/n

(d) nE, nr

18. The resistivity of alloy manganin is
(a) Nearly independent of temperature
(b) Increases rapidly with increase in temperature
(c) Increases rapidly with decrease in temperature
(d) decreases rapidly with increase in temperature

https-fbyijus.com
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(a) ATUHM ¥ TTHT WA

(b) ATUHF A gfg P U AN AT
(c) ITgHT H HHt & 1 donl T Sgal g
(d) ATIHH H g & iy aoll Y gedrg

19. The equivalent resistance of resistors in parallel combination
(a) Increases
(b) Decreases
(c) Remains same
(d) None of these

TR Ao J UfeRIe &1 e ufariy
(a) Sodl®
(b) PHHGI I B

(c) TBIBAT T
(d) 379 AP e

20. In a Wheatstone bridge if the battery and galvanometer are interchanged then

deflection in galvanometer will

(a) Change in previous direction

(b) Change in opposite direction

(c) Not change

(d) None of these
FreweH foet § afe et 3R feamidiex & 3o & 95 d faar oy af Fed-ndier #
[ERELERI

(a) wd f=mT & aRacH

(b) faudia f=n & uftad=

(c) ToT Fgan

(d) 379 A DIg T

21. The nature of parallel current and anti-parallel currents are
(a) Parallel currents repel and anti-parallel currents attract
(b) Parallel currents attract and anti-parallel currents repel
(c) Both currents attract
(d) Both currents attract
THMTR RIS 3R FHMR fuda URTSH &1 UHid 8

(a) FHMIGR YRTE Ufdpd B § 3R JHMIR fauid YRTT 3Th¥d Bt &
(b) FHHIAR YRTT 3MH I B & SR JAMIR AU YR YIS geal &
(c) T YRTY STH B &
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22. A charged particle is moving on circular path with velocity v in a uniform magnetic
field B, if velocity of the charged particle is doubled and strength of magnetic field is
halved then radius becomes
(a) 8 times
(b) 4 times
(c) 2 times
(d) 6times
T AR S UHaTH Jerd &5 8 H AT v & 1Y ISR U4 R I@ @13, M
SHTARRTA FHUT T AT GRIAT R T ST 3R JaB 1 &3 i ferera SAmeft oz < e
orear &1 gy

(a) 8T

(b) 47T

(c) 27T

(d) 6T

23. Sl unit of magnetic flux is
(a) Tesla
(b) Gauss
(c) Ampere
(d) Weber

PN Teids Bl I TP &
(a) Tesla
(b) Gauss
(c) Ampere
(d) Weber

24. Cyclotron is used to accelerate
(a) Electrons
(b) Neutrons
(c) Positive ions
(d) None of these
rEFaIe &1 ST doht o & forg faran Srar g
(a) ST
(b) g

(c)e= 3

(d)3TH I PIS Tol
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25.

26.

27.

28.

The magnetic field B at the centre of a current carrying circular loop of radius r is
(a) Bis directly proportional to r
(b) Bis inversely proportional to r
(c) Bis directly proportional to r?
(d) B is directly proportional to r?
350 r % T YRTATE JIBR qU S g H YaHT AT B R
(a) B, r%%ﬁ%&na'crm%
(b) B, r. % SISHHIYT &
(c) B, r*.HIY W%
(d) B, r*. % T U ©

The distance between two parallel current carrying conductors is doubled what will
be the effect on force between the conductors

(a) Force becomes % times

(b) Force becomes % times

(c) Force becomes 4 times

(d) Force becomes 2 times

3 TR YRTATe! ATeeh! & st B gel QAT R ot Sl &, I & §ie §af R T
YT TSTM?

(a) SQ1/4 T BISIAT

(b) % T[T B ST &

(c) S 4TATGISICTE

(d) S 2 AT ST 8

A moving charged particle experiences no force while moving through uniform

magnetic field

(a) If charged particle moves perpendicular to the magnetic field

(b) If charged particle moves parallel to the magnetic field

(c) If charged particle moves at an angle 45° to the magnetic field

(d) If charged particle moves at an angle 60° to the magnetic field
TS TITHM SR B THHAM Jab 19 & T 7T HRd I DS 9 U ol
PRATE

(a) TS SMAMRIT HUI YD 1g &F & aad Iaidl &

(b) TS SMAMRIT HUI YD 1T &F F JHMIR Iadl 8

(c) fE AT FHUT YIB T 8 | 45° F HI0T R 7T Rl §

(d) fE AT FHUT YIB T &8 | 60° &F HI0T IR T Bl §

The earth behaves as a magnet with magnetic field pointing approximately from the
geographic

(a) North to South

(b) South to north

https-fbyijus.com
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(c) Eastto West

(d) West to East
T8 U 9o & ©U H FGgR Bl ¢ [oTIH Gab1d &3 AT Hifeids 9 §R1d dar
g

(a) IR Y eféur

(b) GI&UIY IR

(c) gd A ufzm

(d) TBE AT

29. The angle between geographic meridian and magnetic meridian at a place is

30.

(a) Magnetic declination

(b) Magnetic dip

(c) Horizontal component of earth’s magnetic field
(d) Vertical component of earth’s magnetic field

foraft M W HIMiferes iR SR a1 HEOTg X1 & aid &1 HI0T 8
(a) GBI fqura
(b) YFPIT 7
(c) TEF YD1 & HT A geh
(d) Gl & GBI & BT Aadd gch

The strength of the earth’s magnetic field is

(a) Constant everywhere

(b) Zero everywhere

(c) Having very high value

(d) Vary from place to place on the earth’s surface
gl & YoBId &% P aRer g

(a) B T8 1A

(b) T I R T

(c) 9gd HAG A BT

(d) Gt Bt Ydg W T8-SITE & adT 8dl 8

31. The vertical component of earth’s magnetic field at a place is V3 times the horizontal

component the value of angle of dip at this place is

(a) 30°

(b) 45°

(c) 60°

(d) 90°
foraft R IR g2t & YaP1T & BT SHedleR T Afat Ted B3 T 8, 39 ”MF R
T P01 BT 7 §

(a) 30°

(b) 45°
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(d) 90°

32. LenZ’s law is a consequence of the law of conservation of
(a) Energy
(b) Charge
(c) Emf
(d) Current
A1 1 W fordds TR&f0T o 1 &1 aRomd 2
(a) ol
(b) amrarer
(c) faga are® T
(d) fereg emer

33. The emfinduced in a coil is
(a) Directly proportional to change in magnetic flux
(b) Directly proportional to rate of change in magnetic flux
(c) Inversely proportional to change in magnetic flux
(d) Inversely proportional to rate of change in magnetic flux
TS PUsell 7 IR figgd ags s 3
(a) TIBN Berad T URdcH & foIT wwruTiars
(b) YIPI BererT foﬁ‘ci?ﬁﬁ?R%Wﬁwﬁ‘cﬁ
(c) YIBIT Herad H URGdH b GeBATIATY
(d) YD1 Bt T URacH b &R o GepHTaTT

34. Sl unit of mutual inductance is
(a) Farad
(b) Ampere
(c) Henry
(d) Tesla
IR PO B 51 SHTS §
(a) TS
(b) TR
() BRI
(d) <

35. The magnetic field is parallel to a surface then the magnetic flux through will be
(a) Zero
(b) Small but not zero

https-fbyijus.com
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o (c) Infinite
(d) Large but not infinite

YIPIT &7 U Jdg & JHFIR § al GBI Befad BT
(@) AF
(b) BT A T et
(c) Sid
(d) STl 3 gt
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IRWUS e ST Ud uRier g I, RS
YT HTafdieh TR1el 2021- 22
ared Uy o T -3

$&”212 ﬁ-q—q - .—‘.:ﬁ-%—cﬁ- W_la‘a3om W- 35

gt sl & IR Fari g
FA3SUHRI

e Uy & g 1 3/ RufRa gl

Ud% U & IR fApeu fd M g1

el [ddhed &1 o P

TTAd IR & o1 BIS 3ih T8 b1 ST |

YV V V VY VY

1 Which of the following properties is not satisfied by an electric
charge?
(a) Total charge conservation. (b) Quantization of charge. (c) Two
types of charge. (d) Circular line of force.
[ & I 1 7T fIegd v ¥ gy e eir 82
(€) T AT IREO1| (&) YHR DI AR (c) T UBR & A | (SY) T B

gfag @

2 Which one of the following charges is possible?
(a) 5.8 x 1018 C (b) 3.2 x 10-18 C () 4.5x 1012 C (d) 8.6 x
10-19C
frafiea & § &F w1 fagyga emaw ¥yq g2
(@) 5.8 x 1018 C (b) 3.2x 1018 C (c) 4.5x 1019 C (d) 8.6 x
10-19C
3 If a charge on a body is 1 nC, then how many electrons are present
on the body ?
(@) 6.25 x 1027 (b) 1.6 x 1019 (c) 6.25 x 1028 (d) 6.25
x 1011
gfe; farddt fig W 1 ne A8, A U R fran saiae Mg 82
(@) 6.25 x 1027 (b) 1.6 x 1019 (c) 6.25x 1028 (d) 6.25 x
]_Oll
4 Three capacitors each of capacity C are added in series connection.
Then the equivalent capacitance will be _
a. 3C
b. 3/C
c. C/3
d. 1/3C

SONGH T YD &1 C P i HURICR SIS S & a9 e etfar g1l _

a. 3C
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c. C/3
d. 1/3C
5 SI unit of self inductance is
a) Joule b) Coulomb c¢) Weber d) henry
TIURYT HT SI AES §
a) Joule b) Coulomb c) Weber d) henry
6 The direction of the induced current in a circuit is always such that
it opposes the cause due to which it is produced. This law is named
as:
a) Ohm's law b) Lenz's law c¢) Kirchoff's law d) Faraday's
law

et ufvuy & Ofvd o 1 fezm gaem T gt § f a8 39 R &1 faRly
Pl g oI HRUI 98 I BidT &1 39 9 &1 8
a) 31 &1 999 b) A~ &1 [T ¢) fFae o1 g q) BRIs &1 fHaw

7 The electric flux (in Nm2C-1) for Gaussian surface that encloses the
three charged particles in free space is (given ql =- 14 nC ,q2
=78.85 nC, q3 = -56 nC)

(@) 103

(b) 106

()  6.32x 103
(d) 6.32 x 106

A TdE F T Regd varg (Nmec-1 8) S i mafRrd ol &t a7y
fyas HeRarg (G ™8 q1 =- 14 nC ,q2 =78.85 nC, g3 = -56 nC)

(@) 103
(b) 106
(c) 6.32 x 103

(d) 6.32 x 106

8 Two parallel conductors carrying current in the opposite direction
will

a) Attract each other
b) Repel each other
) Neither attract nor repel
d) None of these

fauia fo=m & e 7 9 a1 & UM ATl
a) T IR Bl BRI HI
b) T IR &I UfTh N BT
c) T Y 3T B SR 7 g Ui ger
d) 70 9 PIs 51
9 Unit of magnetic field is
(a) Wb m?2 (b) Wb/ m?2 (c) Wb (d) Wb /m
JIP & B IPTS 3

a) Wb m?2 (b) Wb/ m?2 (c) Wb (d) Wb /m
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12

13

Which material has highest electrical conductivity?
(a) Copper
(b) Aluminium
(c) Iron
(d) Silver
g gerd ot faggd arasmdr Iad 31 gia g2
(a) <ITET
(b) TegBfTaH
(c) <RI
(d) Tie

A point charge Q is placed in an electric field E, the force experienced
by the charge will be

(a) Q/E

(b) QE

(c) E/Q

(d) 1/QE

%ﬁﬁﬁngaﬁﬁwaﬁEﬁwwé, SIS gRT v o T 5 d

(a) Q/E
(b) QE
(c) E/Q
(d) 1/QE

Ohm’s law is valid when the temperature of conductor is :
(a) very low

(b) very high

(c) varying

(d) constant

31\ &1 99 99 910 811 § 91d I 1 dT9qH gidl §:
(a) dgd PH

OEREEIRCY

(c)

(d) FRR

A parallel plate capacitor has two square plates with equal and
opposite charges. The surface charge densities on the plates are +o
and - o respectively. In the region between the plates the magnitude
of the electric field is

(@) o/eo

(b) 0/2¢e0

(¢ O

(d) none of these

TH JHFIR Wi TURa & I0 SR fJusia oo areht & afeR

W BIe 1 Wiel TR Iag ST 99 HURE: +0 3R - 6 81 Wel F s

¥ & T faggd & &1 uikHTr giar 8

a) o/eo

(b) o/2¢0

(c) O
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14. A parallel plate air capacitor has a capacitance C. When it is
completely filled with a dielectric of dielectric constant 5, the
percentage increase in the capacitance will be

(a)100% (b) 50% (c) 500% (d) 200%
TP YU W TR HURIER BT HURICH C §1 99 98 URTAYd
fRRI® 5 & WAYd ¥ W dRE W 9141 7, a1 Fofyew & wfowea gfs

(2)100% (b) 50% (c) 500% (d) 200%

15.  The flux linked with a coil at any instant ¢ is given by
$=10t* =507+ 250 . The induced emf at a t=3s

(a) 190V (b) 10V (c) 10V (d) 190V
foreht off &ror et ¥ ST R gRT e St g1 ORd STHTW £=3s a)W®
~190V (b) —10V (c) 10V (d) 190V

16.  The Kirchhoff’s first law (X£/=0) and second law (Z/R=ZXE)

Where the symbols have their usual meanings, are respectively
based on.
(a) conservation of charge, conservation of momentum

(b) conservation of energy, conservation of charge
(c) conservation of momentum, conservation of charge
(d) conservation of charge, conservation of energy

fp=iTh &1 Ugdl (194 (£/=0) 3R W ¥ (ZiR=3E)
STRT Uit & Su= g 37 B §, 9 ShERE: TR SR gid B
(a) TTST T TREOT, TTIeT BT TREfTT

(b) STl T TREFTT, TS T TRETTT

(c) TAT BT TREIUT, ST BT TREUT

(d) STTATT BT TREITT, Folt T TREOT

17. The specific resistance of a rod of copper as compared to that of thin wire of
copper is:
(a) less
(b) more
(c) same
(d) none of these

did & Tdd IR $i ga1 § die Bt 38 H1 Ay ufakiy :

(a) HH
(b) TP
() T&l
(d) 75 ¥ DI el
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fretemneter 18. A magnetic needle, free to rotate in a vertical plane, orients itself
vertically at a certain place on the earth. What are the values of
angle of dip at this place?
a) 90° b)0° c¢)45° d)60°
T Yob1g 3, T SR ol § gH & e Waa, gedl R e g R
R d99d ¥ ¥ IE 8T 51 3 WM W 99 HI0T BT A R g2
a) 90° b)0° c¢)45° d)60

19.  The earth behaves as a magnet with magnetic field pointing approxime

the (a) North to South (b) South to North (c) East to West (d) West to E:
Tt U 4 @ dig TdeR ! ¢ o daa g &F T (a) IR I 0T
Sf&M0T ¥ IR &1 3R (c) Td T T Bt 3R (d) UfeH I gd &1 eﬁ?a?n%

20 The strength of the earth's magnetic field is
(a) constant everywhere
(b) zero everywhere
(c) having very high value
(d) vary from place to place on the earth surface

gedl & gadig & B URHATT §
() X e RR
(b) BX SITTE T

(c) §gd 3P A arad
(d) Tt Pt TdIE R TP W F g M W 1 g1 8

21 The energy stored per unit volume between two plates of a parallel
plate capacitor will be

a) (1/2€0)E

b) (Y2 €02)E

c) (Y2 € 02E2

d) (% €0)E2
TP R WiC SR DI &1 Wiel & &g Ul 315 e J did
Sl gl

a) (1/2€0)E

b) (Y2 €02)E

c) (Y € 02E2

d) (“ €o0)E2

22 Ratio between total intensity of magnetic field at equator to poles is

(@) 1:1 (b) 1:2 (c) 2:1 (d) 1: 4

YAe A1 R Yal W JaD1T & &1 $d digal &1 U §
(@) 1:1 (b) 1:2 (c) 2:1 (d) 1: 4

23.  Which of the following velocity of the electron determines the current
through the conductor
a)drift velocity only
b) thermal velocity only
c) bothaandb
d) neither a and b

https-fbyijus.com
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Zage &I G B 9 DIF 1 37 s & A1egd ¥ 4RT Auid Har 8
a) Had UATE AT

b) Fad YHS AT

c) GHI A 3R B

dTdASRB

24. Copper and germanium are cooled from 50°C and room temperature
(20°C). the resistances will
a) copper increases germanium decreases
b) copper increases germanium increases
c) copper decreases germanium decreases
d) copper decreases germanium increase

HIR 3R THATH B 50°C 3R FIR & AUHM (20°C) J 387 fowar Sam 3|
gfeRIY

a) AIST BT FGdT § STHATH BT gedT 8
b) TSI T Fedl § STHTH DI T6dl &
c) BIR BT Hcdl § STHHTH BT gedl 8

d) PIR BT gedl & THRTA BT dedT &
25.  Figure shows the current in parts of electrical circuits, then current
Iis equal to

2A 1A

e
<

a)l.7A  b)3.7A 01.3A  d)1A

for faqga afvadl & Wil & o1 feran 8, @ fdgd eRT1 SReR 3

a)l.7A  b)3.7A 01.3A  d)1A

26. A current carrying power line carries current from west to east. What
is the direction of magnetic field 1 m above it?
a) north to south

https-fbyijus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

e
m BYJU'S
The Learning App b) South to north

c) east to west
d) west to east

U fagd aRT o S arell fotelt o1 Ui & gd &1 3R &7 yared
B B 3P 1 Hler HIR Yoy &8 ) forwm am 82

a) IR U G2
b) GRAOT ¥ IR
c) Uﬁ ¥ ufgg
d) ufd g & gd
27.  Magnetic field due to a toroidal solenoid is independent of
a) its numbers of turns
b) current

c) radius
d) none of these

& ANAISe TS & HRU YD1 & Wad §
a) THP YATGl BT G

b) faeggd et

SRESI

d) 39 & B1S T8l

28. A charged particle moves through a magnetic field directed
perpendicular to its direction of motion. Which of the followings
quantities of the particle will not changed
a)momentum
b) speed
c) velocity
d) all of these

TH AR BT 3O 1 BT =M & daad MR gadbig &8 & Ty J
Iqd 81 H0 B! Fafafed 3 @ o9 @l 78 seart

Q) T
CHRIIG
M o
) g gt

29.  The force on a current carrying conductor in magnetic field is

https-fbyijus.com
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et e maximum when angle between current and magnetic field is
a)zero
b) 45°
c) 90°
d) 60°
JeP1g 8F T YRTETR! 9dd IR a9 SUHaH 8Id1 § ofd URT 3R Jabid &
& dIF BT IV BT &
a)zero
b) 45°
c) 90°
d) 60°
30. Two thin, long, parallel wires, separated by a distance d carry a
current of I ampere in the same direction. They will
/2
(a) attract each other with a force of Ho
(27 d)
. Mol
(b) repel each other with a force of ———
(2za)

. P

(c) attract each other with a force of 5
(2zd")

(d) repel each other with a force of (’uo—dz)
&1 Uqd, A, FAMIR dR, d g3 9 ST fhT 71T 1 TR 1 4RT 1 T §l
f=m & @ Sd €1 9 g

(a) U SR DT . b I P TTY SATHT B & fo!”
(27?0')

(b) & ST b 1Y TP g B Tl a ol
(27 d)

(c) P S P 1Y Th T P MDA B & (2%412

(d) & ST b 1Y Th g B Tl a ”0/2
(27d")

31. The magnetic lines of force inside a bar magnet
(a) are from north-pole to south-pole of the magnet
(b) do not exist
(c) depend upon the area of cross-section of the bar magnet
(d) are from south-pole to north-pole of the magnet

& IR TR & R P! JrbId W

(a) TSP P ITR-ETT V SR04 &

(b) ST T &

() &P & JIURT BIC B &Fha W R
(d) J&eh b TAUT-Yd Y ITR-Yd dP

32. Current from A to B in the straight wire is increasing. The direction
of induced current in the loop, is O

(a) Clockwise (b) anticlockwise
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(c) Changing (d) nothing can be said

Y IR A A ¥ B % URT 96 @ &1 U H URT yrT ot fa=m g
(A) Sféromad (B) amTad

(C) I&aT (D) B Ht T&f BT o Tebell B

33. If number of turns in primary and secondary coils is increased to two
times each, the mutual inductance
(a) Becomes 4 times (b) becomes 2 times
(c) Becomes Y4 times (d) remains same

eyl SR fedias pusierdl § gaTal &1 We &1 S &l A1 &% faar
ST 8, < UR¥ARS SHTUSTo=

(a) 4 T[T 81 ST & (b) 2 7T &1 oIl &
(c) ¥ IR §9 ST & (d) 9a! X6l &

34.  Why the current does not rise immediately in a circuit containing inductance :
(a) because of induced emf
(b) because of high voltage drop
(c) because of low power consumption
(d) because of Joule heating

VIR are gt er 7 faq et i i 7 g &
(@) R fAEeT aT8h a1 & BRU

(b) 3= diec $1T & HRUI

(c) PH fasTel Pt @Ud & HRUT

(d) SIAT TTIT b BRI
35 When three identical bulbs of 60 W, 200 V rating are connected in series to a 200 V
supply, the power drawn by them will be:
(a) 20 W
(b) 60 W
(c) 180 W
(d)1ow
ST& 60 W, 200 V T 3 T THH ded 200 v B 3T T SO A IS B €, af
IS GRIVANT &1 T3 fa gh:
(a) 20 W
(b) 60 W
(c) 180 W
(d)yiow
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FREus  Afed IqHa Td GieToT  gRWeRTdl, FIRWUS
YUH Hateed e 2021- 22
AlSS 92197 qc - 4
Her 12 vy - #Hifadr AT - 19130 AT Cj'\UTﬁEIF- 35
> ot geal & IR JfAa gl
> ol 359 ¢
> Y% T T 1 3w R R
> U% 93T & IR Gded i T §
> & fAdeq &1 a3« hifav|
> Ied 3 & oI SIS 3 g1 FIC S|
1. Which one of the following is the unit of electric field?

(a) Coulomb

(b) Newton

(c) Volt

(d) N/C

o & & Fia a1 faega 87 1S 7

(a) Coulomb

(b) Newton

(c) Volt

(d) N/C

2. When placed in a uniform field, a dipole experiences:

(a) a net force

(b) a torque

(c) both a net force and torque

(d) neither a net force nor a torque

SIS Ueh HATT &1 & TWT I &, oY Teoh SfaYeiiy 3e]s1d il ¢

(T) Tep [ deT

() TF et st

() e T 3N JTET T St

SERINAECE NI EUEC]

3 Two copper spheres of the same radius, one solid and the other hollow, are charged to

the same potential. Which will have more charge?
(a) Solid sphere

(b) Hollow sphere

(c) Both will have an equal charge

(d) None of these
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T g TIAT & &l i & alel, Ueh o1 3R gER @iEel, T g1 fasd & folw 3mafid e ©@
g IT9as Sarer 3maer gem?
() BT IMeT
(W) @G Jirelm
(3T) YAt U AT 3T g
() 318 & Fig T 71gT
4 A Gaussian sphere encloses an electric dipole within it . the total flux across the sphere is
(a) Half of that due to a single charge
(b) Double that due to a single charge

(c) Depend on the position of the dipole
(d) Zero

T IS T 379 e v g gfaya O §1 X it 3 o yarg &
(a) Teh 3TTAA o HRUT TSI BT § SHhT JTET g
(b) Teh TR oh SRUT FSIcTAT BITT & SHehT GI[AT gram
(c) cfaydra®r Rufd R R aars
(d)

5 A soap bubble is given negative charge. Then, its radius w
(a)decreases  (b)increases  (c)remains unchanged (d)nothing can be predicted

AT & Felgel I FUMcH A 1T & 77, ThT Fearw

() TEAT 8 (b) S&dT & (c) ARG T&TT & (d) He 8t sTTasTarof =Fgh I ST Fehcll §

6 Two point charge of +3uC and -8C attract each other with a force of 1N. A charge of + 5uC
is added to each of them. Now, the force will be

(&) 1N attractive (b) 1N repulsive (c) zero (c) can not be found

+3pC 3R -8uC & Y feig JTALM IN & FoT & Teh GEN T TVl el & | 3o
H YcAH H + 5UC T 3TAN FST AT & | 379, T 19T

(a) 1N 3Teh¥eh (b) 1 N YfdiehReh (c) e (d) STCeT TET fohmam ST Hehel

7 A parallel plate capacitor is charged and then the charging battery is disconnected. The plates
are further separated. The p.d. between the plates will

a) Remain the same

b) Decrease

c) Increase

d) Firstincrease and then decrease

Ueh AT Tole HOf8eT & 3mafAa far srar § 31k fhT dei &Y ger e srar g1

BAEALRAR oo s
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a) dgrIganm

b) e Y SITuaT
C) da. SITudan
d) gge FeIrm IR R aeam

8 Increasing the charge on the plates of a capacitor means

a) Increasing the capacitance

b) Increasing p.d between the plates
c) Both

d) None

R i et WA F dea T

a) RarAgeRIadE
b) Torel & & [AsaiaR Jeary
c) arr

d) I TEr

9 Two capacitor of capacity 6 uF each are available, the minimum and
maximum capacitance which may be obtained are

a) 6 uF,18uF
b) 3uF, 12 yF
Cc) 2uF,12 pF

d) 2uF, 18 uF

ar g, Tedeh dhr 41idr 6 pF §, =gsTa# 3 3fReras e it Jred i S Jehel! 8

a) 6 uF,18uF
b) 3uF, 12 uF
c) 2uF12 puF

d) 2uF, 18 pF

10 Determine the equivalent capacitance between points Aand B
Aer— < 3C > —B
3C /@\ I
a)C. b)2C. ¢)3C. d)none
faig A 3R B & oo gaged anidr ared Y

https-fbyijus.com
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i
3C /@\ 3c

a)C. b)2C. ¢)3C. d) IS e

11 If a dielectric be introduced between plates of a parallel plate capacitor
then the value of its capacitance-
a) Decreases
b) Increases
c) Remains same
d) None

I T HHATECR Tele HHTRE 1 Tolet & oI Teh TR STell 911U dt 38ehT a1 &
T

a) "edig

b) Sedrg

c) TI{ATE

d) gl

12 Why is the Wheatstone bridge more accurate than other methods of measuring resistances:
(@) It is a null method

(b) It is based on Kirchhoffs laws

(c) It has four resistances

(d) It does not involve ohm’s law

ScRYE T AT o 37 TLYehl T ool A SgIcESI foiot eI qéreh i &'

(a) T8 Th =T fafer g
(b) T farTals sefer o) e &
(c) 38 IR FfaeT &
(d) SHH 31 1 A AT AL &

13 Kirchhoffs first and second laws for electrical circuits are consequences of:

(a) conservation of energy hiips-/ibyjus.com
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et b) conservation of electrical charge and energy respectively

(c) conservation of electric charge

(d) neither conservation of energy nor electric charge
Rmcaen & Regre aRoet & ger 31 g@Y v & oo &
(a) 31T T EIETOT

(b) sheeT: Tieg el 3maer 3R ST a1 |ator

(c) e 3Mmarer T E&ToT

(d) & T St T EX&T0T 3R 1 &Y faeg el 3maer

14 The length and radius of an electric resistance of a certain wire are doubled simultaneously,
then the:

(@) resistance will be doubled and specific resistance will be halved
(b) resistance will be halved and specific resistance will remain uncharged
(c) resistance will be halved and the specific resistance will be doubled

(d) resistance and specific resistance will both remain uncharged

Teh AT AR & faegd gfaie S oers 3R e & weh are e X fear Sirar g, ar:
(a) TfcITer ST g1 SITveT 3R fafRrse gfrer 3me gY siean

(b) SITRRYer 3TerT &Y STTeT 3R RARRrse gfeRier 3raRafda e

() WTRRYET 31TeN &Y ST 3R FafRree wfeRTer g g s

(d) FTaRYer 3T fafRrse faRyr 1t 3aRafda war

15 The resistance( in Q) in the four arms of wheatstone bridge are as follows. in which case the
bridge is balanced

(a) 1,2,3,4 (b) 2,2,3,4 (b) 3,3,3,4 (b) 4,4,4.4

SEICESI Tt T TR 3731 & TieRier (Q #) 38 TR & | ot [&ufey & egieeale fost
w8

(a) 1,2,3,4 (b) 2,2,3,4 (b) 3,3,3,4 (b) 4,4,4.4

16 A wire P is half the diameter and half the length of a wire Q of similar material. The ratio of
resistances of P to that Q is: hitps://byjus.com
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(b)8:1
(©2:1

@d1:2

TUsh dR P HHATA T aTel AR Q 3 ST ST 37T 3R ofaTs &1 3mem &1 P 31 Q & wfaRrat &t
eI &

@4:1

(b)8:1

©2:1

d)1:2

17. For ohmic conductor the drift velocity v4 and the electric field E applied across it are

related as
a) vg4 proportional to E¥2 b) vq proportional to E
c) vy proportional to E¥2 d) vy proportional to E?

3N ATeleh & ToIT 319aTE 99T vd 3R 37 TR 9] faegd & defed g
8) Vg , EY2 & THATITCY b) vy, E  FATUT

C) Vg, E*? & FATTIICA d) vy ,E? o FHATFT

18 An external resistance ‘R’ is connected to a cell of internal resistance ‘r’, the
current in the circuit is maximum when
a)R>R b)R<r CR=r d)R=0
Teh ST FTCRTE 'R' 3HTcAReh IRIer ' & dor @ o7 8 | IRIY F 4Ry sfhaa gl @
ol
a)R>R b)R<r COR=r d)R=0
19 A proton enters a uniform magnetic field of 5T with velocity 4x10" m/s at right angles to the

field. The magnetic force acting on the proton is (Charge of Proton= 1.6x10™ C)
(@) 3.2x10™*N (b) 3.2x10™N (c) 2.3x10™N (d) 3.0x10™°N

Teh Heial 5T & Teh THTT et &1 H 4x107 m/s IaT H &1F o olefalel YA AT & |
SIETeT 9X o137t ATl Yeehld &l g (FIETeT & 3T = 1.6x10-19 C)
(a) 3.2x10™°N (b) 3.2x10"'N (c) 2.3x10™°N (d) 3.0x10™°N

20 Two long parallel wires each carrying a current of 1 A in the same direction, are placed 1m
apart. The force of attraction between them is

(@) 2x10'N/m (b) ZX10'4NW1O'7N/m
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&l oI FHATTAR dR, ToreTd & 9l J tah &) e & 1 A fr e yarfgd gl &, & 1

HIET T g1 TR TWT 9T & | 3oTeh a1l JThYOT Sl §
(a) 2x107"N/m (b) 2x10*N/m (c) 1x10'N/m (d) 4x10"N/m

21 The expression for Lorentz Force is

(a) F=qE (b) F=a(BxV)
(c) F=q[E+(VxB)] (d) F=[aE+(VxB)]
ANcot 5ol & folT st &
(a) F=qE (b) F=a(BxV)
(c) F=q[E+(VxB)] (d) F=[aE+(VxB)]
22 Two parallel conductors carrying current in the same direction will

a) Attract each other

b) Repel each other

c) Neither attract nor repel
d) None of these

ST Teh € feRmm & &Y FATCR Trershl & faET 4T yarfgd g1 al el <efeh
a) Teh QAN 1 ATV YT
b) U gER HI UfdhNd HaT
c) o ar THNd Y IR A & gfahiNd Siar

d) SIH & HIS QI
23. Which of the following is not the unit of magnetic induction
a) Teslab) Gauss c) oersted d) weber/meter?

fFfafed & & et Yaehrar &7 T 5oh1g 16T ©
a) T b) I ) IS d) JsR/#HE
24 Mention S.1. unit of magnetic field :

(a) Gauss (b) Tesla (c) Weber (d) None
I &1 T S.I. SHTS T Soold Y

(a) 3TE (b) TFeT (c) ds (d) IS AL

25. What is Lorentz force

a) Force on a moving charge in a magnetic field

b) Force on a current carrying conductor in a uniform magnetic field
c) Force on parallel current carrying conductors

d) None of these

INcT TT FATE

a) GehIg &TF A FTIHATET T I Tl

b) THEHATH Yoehle & H URTATET =TeTeh TR el
C) THAIGR YRTATE! dTelehl U ol

d) ST A IS IRT https://byjus.com
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m”““’”'”g e 26. The earth behaves as a magnet with magnetic field pointing approximately
from the geographic
(a) North to South
(b) South to North
(c) East to West
(d) West to East

G2l Ueh Toieh oh §9 H g il ¢ ToTaa Jeehid &1 ofarerdT eflanforsh
(a) 3R T gfEyoT feem Y 3R ST AT &
(b) EfeIoT & 3R feem Y IR sPaT i &
() 9a & uiers feem & 3N S T 8.

(d) afFes @ qd feer &t 3T ST el &

27 The strength of the earth’s magnetic field is
(a) constant everywhere.
(b) zero everywhere.
(c) having very high value.

(d) vary from place to place on the earths surface.
i ¥ GaRrT T B AT

(2) &% 51918 R

(b) & ST Y|

(c) agaaafﬁmm:rmﬁl

(d) g2t hT Felg TN Teh TUTeT H GER T T =T BT &

28 Which of the following is responsible for the earth’s magnetic field?
(a) Convective currents in earth’s core
(b) Diversive current in earth’s core.
(c) Rotational motion of earth.

(d) Translational motion of earth.

fAFafaf@d & @ sl gedt & gahg a1 & fav SeAer 82

(a) 92T & IS H Hagall URTT

R o< /bjus com
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o (c) g2t T gutet arfa|

(d) gy &1 W a1fd |
29 Which of the following independent quantities is not used to specify the earth’s
magnetic field?

(a) Magnetic declination (0).

(b) Magnetic dip (9).

(¢) Horizontal component of earth’s field (By).

(d) Vertical component of earth’s field (By).

AT i@ # @ fora Tarci R &1 3uAeT g2t & dashrg &9 &1 ffdse e o foaw g
fohar ST 872

(a) T feehaTd (6)

(b) TRy 1A (3)

(c) JaT o Yaehiar &7 7 &ifcieT Teeh (By) |
(d) g2t & gerhr &7 T oisfad Teeh (By)

30 The magnetic flux linked with a coil of N turns of area of cross section A held
with its plane parallel to the field B is

@ NAB ) NAB (o % (d) zero
N AT, A 3TEY FHIE 817 T Hell T el B o1 817 & HAAN I g5 8| F5el @
SIST deehlY Folehd g1

(a) H%'E () NAB (0 % () zero

31 The role of inductance is equivalent to

(2) Momentum (b) Force

(c) Energy (d) Inertia

TSI T AP JeT &
(2) AT (b) 5o
() Fait (d) STSar

32 Two identical coaxial coils P and EE carrﬁini eaual amount of current in the same
direction are brought nearer. The cur
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(@) P increases while in Q decreases
(b) Q increases while in P decreases
(c) both P and Q increases
(d) both P and Q decreases

W%&nﬁwmﬁﬁgaww@awmawmmfﬁﬁﬁpam
Q fo¥ehe oIlT STl 1 farefer e

(@ PHTeATg Adfh QH gearg

(b) QH FedTg Tafh P H AT g
(c) PR QAT A dgar
(dPIAR QA Hued g

33 Direction of current induced in a wire moving in a magnetic field is found using
(a) Fleming’s left hand rule
(b) Fleming’s right hand rule
(c) Ampere’s rule
(d) Right hand clap rule

b &3 & AT TR AR GRT Y Ferm shT 3T Fleh I1AT AT &
(a) FATHIT & STT T T AT

(b) FATHIT & EIfget 8T T et

(c) TFIRR &1 T g#H

(d) grfget g1 a1 el fagsT

34 Lenz’s law is a consequence of the law of conservation of
(a) charge
(b) energy
(c) induced emf

(d) induced current

oot ol T et TohEeh TR&ToT & et 1 gRoTa 87

@ 3TeT https-fbyijus.com
e
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(d) IR faege em

In the given figure current from A to B in the straight wire is decreasing. The
direction of induced current in the loop is

k

(@) clockwise
(b) anticlockwise
(c) changing

(d) nothing can be said

RUaIv T A A AR A A QB dsh H URTHE W | oF & IRT urT T fear g

k |

(a) cf@roTmad
OEIGIES
(c) SEATET &

(d) S $1 TET T ST Heell &

https-fbyijus.com
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[BBYJUS JUH Hafe qO&T 2021- 22
Al 92T 9 dqc - 5
HeTT- 12 fawa- siifaehr FHI- 19130 AeAC | qUiteh-35
o g3l g2t & 3aX Iy &

* %ol 35 9% ¢

« Y% U & fow 1 315 R g

- JAH 99 & IR Ahed U 917 &1 & fashed &1 aaa HIfaiv|
« TAd 3W & oI FIg 3F 7T HIC AL |

1. If a solid body is negatively charged by friction, it means that the body has:
(a) acquired excess of electrons
(b) lost some protons
(c) acquired some electrons and lost a lesser number of protons

(d) lost some positive ions

Ife IS oI T3 gY0T ganT FUTcHS &9 F AT 8IdT §,ar $aeT 31T § fon [
OESEMGIEIRIREGIRIGEE
(b) FT WreleT @i fer

(c) & SeIFCIall ohT ITRGOT FohaT R ot TEAT & Yl @ feam
(d) T 3T Y G fem

2. A metallic sphere is placed in a uniform electric field.

The lines of Force follow the path(s) shown in the figure as:

(a) 1 (b) 2
(c)3 (d) 4
Teh &1 o 3ol T Teh THAT Tdegd AT H @ IR B

& fbyjus.com
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ol 1 @IV = F @IV 710 92t 1 3HTaor FIcA 8

@1 (b) 2
(€3 (d) 4

A point charge g is placed at the midpoint of a cube of side L. The electric flux emerging
from the cube is:

9 q 6L
@) (b) 6L (©) 2 (d) ZERO

T foig JMTARN g T 3TSMT L o & o HEY g W I@1 3T 8 | ef A fieholed arell faeg e
FoTerd Ig:

9 q 61?2
@) (b) 6L ©) 2 (d) ZERO

The capacitance of a parallel plate condenser does not depend on:
(a) area of the plates (b) metal of the plates

(c) medium between the plates (d) distance between the plates
AT Tele TETRA I eTRAT 3R 18T Ll 8

(a) Tolcl T 8T (b) Telct shr &r]

(C) TeTel o oI ol ATETH (d) T¥et & o hr gt

Which of the following is NOT the property of equipotential surface?
(a) They do not cross each other.

(b) The rate of change of potential with distance on them is zero

(c) For a uniform electric field they are concentric spheres.

(d) They can be imaginery spheres.
fArfafed & @ i a1 gaAfasE gos i o7 761 82

(a) I Ueh gAY T IR 6T X & |

https-fbyijus.com
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(b) 3T T Y & ATY &THAT & TRl I T YT &

(c) U | facgd &7 & forw & Hehfad el g1t 8
(d) T FTeTfash ST TP &

6. Three charges + 3q + q and Q are placed on a straight line with equal separation. In
order to make the net force on g to be zero, the value of Q will be :
(a) +3q (b)2q
(c)-3q (d) -4q

offeT 3MTARr + 3q + q 3 Q Ueh T T H FAA G R IWITE W el Tl

Y YT A & T, Q T AT gram

(a) +3q (b) +2¢
(©)-3q (d) -4q
7. If sphere of bad conductor is given charge then it is distributed on:

(a) surface
(b) inside the surface
(c) only inside the surface

(d) None

e, FaTersh o el T IR T ST & oY g fadRa g &

(a) g W (b) TTE & 37eT
(c) hael TE & e (d) TS =TEt
8. The dielectric constant of a metal is:
(@0 (b) 1
(€) 0 (d)-1
ey g e
(@0 (b) 1
(c) (d)-1

https-fbyijus.com
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fretrmie g, Choose the Sl unit of electric potential energy :

Tt feufasr e &1 Sl & gof
(a) Joule (SfeT) (b)Coulomb(elTes)
() Netwon per coulomb (7g&=1/Feis) (d) Erg (37T)

10. If a +ve charge is moved from low to high potential region,
the electric potential energy:
e IS UATaeT f9o=T & 3T Taera &1 T 3N 3@ g1 o faeye Fufdst s
(a) decreases (&< SITTIT)
(b)increases (3&.SITT31T)
(c) remain the same
(d) may increase or decrease (8¢ IT §¢. Hehall §)

11. A force of 4N is acting between two charges in air. If the space between them
is completely filled with glass (relative permittivity= 8), then the new force
will be

(@) 2N b) 5N c}0.2N d) 0.5N

g A & TR o ST AN T 7T 1 & T6T & | T SeTeh d1er T T T e

T T I (FTIET YRTEIAT = 8), Y 73T Iof 19T
(a) 2N b) 5N c} 0.2N d) 0.5N

12.  The magnetic field inside a solenoid is
(a)Uniform and strong
(b)Non-uniform and strong
(c)Uniform and weak

(d)Non-uniform and weak

e IR & 3T JahrT a1 §

(Q) TFHATS 3R AT

(&) AT HRFSTE

@) ) THFAT 3R FHAR

@) ) 3TAT 3R FHAAR

https-fbyijus.com
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13. one Gauss is equal to Teh 3N SRTER &Il &

a) 1 Tesla b) 10° Tesla c) 10 Tesla d) 10 Tesla
14.  The angles of dip at the poles and the equator respectively are
(a) 30°, 60° (b) 0°,90° (c) 45°, 90° (d) 90°, 0
¢JaT 3T ST TR HA: A HI0T 8
(a) 30°, 60° (b) 0°,90° (c)45°,90° (d) 90°, 0°

15.  An electric heater is connected to the voltage supply. After few seconds, current gets
its steady value then its initial current will be
(a)equal to its steady current
(b) slightly higher than its steady current
(c) slightly less than its steady current
(d) zero

Teh golfebgen €1eY dlecst & ITYfcl & 3T 81T & | S Aehs & dTe;, HIC T 3T
TEUT AT T SITAT & oY SHehT IRTSeh &R gref

(a) FE2R RT 3 X

(b) FERR €T & 2TsT 31fereh

(c) TR &IRT & UIST e

(d) =

16 In the series combination of two or more than two resistances
(a) the current through each resistance is same.
(b) the voltage through each resistance is same.
(c) neither current nor voltage through each resistance is same.
(d) both current and voltage through each resistance are same.

ar ar ar & 31f¥es gfaRret & Soft aaieeT &
(a) Tk FRer & ATeTH & faefed eRT A ¢ |

(b) TA FTARIT & ATETH  alecol TG &

https-fbyijus.com
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) (c) T UfaTe & ATETH A & A FaYd ary 3N 7 81 dlecst A &

(d) A 9faRTer & AT A TN 3T dlec s gl THATA & |

17.  Acell having an emf E and internal resistance r is connected across a variable
external resistance R. As the resistance R is increased, the plot of potential
difference V across R isgiven by

T el FaH faYdarges Tef 3R AR G r &, Teh =R S I R &

STST §3T & 151 81 IfARIY R 56T &, HaTfad fasfaicy V ™R I @R &I ST &:

18. In parallel combination of n cells, we obtain
(a) more voltage (b) more current
(c) less voltage (d) less current

n Tl & GHATATAR GATSTT H, H UTCd hld &

https-fbyijus.com
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(a) 37T dlecsT (b) 31T faErTemT
(c) A dlecsT (d) e faYT arT
19. In a Wheatstone bridge if the battery and galvanometer are interchanged then the
deflection in galvanometer will
(a) change in previous direction (b) not change
(c) change in opposite direction (d) none of these.

grereld foor & afe dedY 3R Aeaaeliex 1 399 & seo ear e ar
Freaaireiex # faeioor g
(a) 9a f&em 7 aRadisr (b) aRacieT 18t

(c) T feem & aRad= (d) 3T T PIS AT |

20.  The specific resistance of a rod of copper as compared to that of thin wire of copper is :
(@) less (b) more

(c)same  (d) depends upon the length and area of cross-section of the wire

el & Yol AR &Y JoiedT H el T D5 7 Fafrse gferier &

(a) A (b) 378

(c) I&Y (d) TR T oaTS AR IToEd F1T & 8Tl T A9 FXAT §

21.  The resistivity of alloy manganin is
(a) Nearly independent of temperature
(b) Increases rapidly with increase in temperature
(c) Decreases with increase in temperature
(d) Increases rapidly with decrease in temperature

fesrerq Harehet 1 wfcieredr &
(a) ATIHTST & oI T
(b) TTIHATET F & & /Y A & TGl &

(c) ATIHATS H Feier & | Tl &

https-fbyijus.com
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(d) AT 3 Fall & AT N ¥ TedT §

22.  Current flows through uniform, square frames as shown in the figure. In which case is
the magnetic field at the centre of the frame not zero?

(a) (b)

L )

——

(0) | (d)

Sar ok o 7 fewmrr arar €, vehaAT, Tl A @ e Yaiied alar g | forg

Reufey 31 357 by 31 eBIar 8 Qe 7T BT &7

(a) (b)

+

(o) | (d)

A

.23.  The correct plot of the magnitude of magnetic field B” vs distance r from centre of the
wire is, if the radius of wire is R

@) ‘\ ®) /‘\

https-fbyijus.com
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24,

25.

26.

AR & e A gl 1 STTH Yol &9 B~ & IRHATUT 1 FeY Telle &, IS TR T 3w
RE

Al

0 R

8
R
B8 B
!
0 @

A current carrying loop is placed in a uniform magnetic field. The torge acting on it does
not depend upon

(a) area of loop (b) value of current

(c) magnetic field (d) None of these

Teh fAY URT o STel ATl o[ Teh HATST ehid &1 H QT STl § 156 T ofaTed arell
HTEOT &l AT 78T AT &

(a) [T & &1F (b) eIt e T AT

(c) eI &7 (d) 3TH & HIS gl

No force acts on the change fired through a magnetic field when the angle between its
velocity and magnetic field is

Teh 37T IR YehI & H IS el 6T oNaT STa Yeehl &7 3R 3Taer o e r
YT :

(@) T (b)3n/4

(©) m/2 (d)r/4

When a magnetic compass needle is carried nearby to a straight wire carrying current,
then

() the straight wire cause a noticeable deflection in the compass needle.

https-fbyijus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

=
EBYus

The Learning App

(1) the alignment of the needle is tangential to an imaginary circle with straight wire as
its centre and has a plane perpendicular to the wire

(@) (1) is correct (b) (1) is correct

(c) both (1) and (11) are correct (d) neither (1) nor (1) is
correct

SIS Ueh GeehIT - qTH S 1 [T YT FaTfgel sietarel He dR & 91 of SR STl
g, dr

(1) e AR HFIH FS F AT ot A9 FI&II0T BT R OT STl B |

(1) g3 o1 TXGOT Ueh SloUleieh gel oh T IWT T R GIell § ST TN o oleiaed ool H
glaT gl

(2) (1) et (b) (1) TETE
(c) &=t (1) 3R (1) T & (d)arar () IRAL (1) TEE

27.  Which one of the following is correct statement about magnetic forces?
@ Magnetic forces always obey Newton’s third law.
(b) Magnetic forces do not obey Newton’s third law.
(© For  very high current, magnetic forces obey Newton’s third law.
(d) Inside low magnetic field, magnetic forces obey Newton’s third law.

ThT Tell & IR H el & & Slet a1 e Fgr 82
(a) TSI ol GHIT Y&l oh AR FAIH T UTelel A& |

(b) TR ToT &t & AL I T UTelel 6T el ¢ |

(c) gl 31T &RT o ToIT, Gorohr e wgga & e fofda ohr arefet it &

(d) & ThT &1 & 3T, JahIT FeT 7g&oT & A [daH T UTeleT Hd 2|

28.  Two a-particles have the ratio of their velocities as 3 : 2 on entering the magnetic

field. If they move in different circular paths, then the ratio of the radii of their paths is

(@2:3 (b)3:2
()94 (d)4:9
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(@2:3 (b)3:2
(c)9:4 (d)4:9

29. Do magnetic field lines always form closed loops

a) Yes b) No
c) Sometimes d) None of these
T Yeh1 &1 TWTT §ART S, od TaAlcll &
a) g b) =Tet
c) wefr-amefy d) ST § IS AGT

30 The induced emf Ldl/dt is analogous to.

(a) force (b)work
(c) power (d)impulse

AR faY argeh 9o Ldl/dt fAe=ifafed & @ fhas gae 82
a. 9o b. T c. afed d. 31maer

31.With a decrease of current in the primary coil from 2 amp to zero value in 0.01 sec, the emf
generated in the secondary coil is 1000 volt. The mutual inductance of the two coils is :
a) 1.25H b) 50H
)  25H d  10H

0.01 Hehs H A Fell H fAYT URT 2 amp T 0 amp FH glet W g

$Soll H 3ceeT TAY aTgeh el 1000 dTee &1l ¢ T alel Shsferdt sl IRETRS

31fOrsaTTeT &
a) 1.25H b) 5.0H
c) 25H d) 10 H

32.  Acoil is placed in a magnetic field directed downward and increasing from 0 to 18 T in

0.1 second. Area of coil is 2m? and resistance 5 Q. Induced current will be :
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et a) 7.2 Aiinclockwise direction b) 72 A in clockwise direction

C) 72 A in anticlockwise direction d) no current will be induced

Teh Hell Sl i B 3R TAERIT Joehr 17 A 7@ I g 3 0.1 @hs H O A 18
T T oG 16T & | FUSel &7 aTaher 2m” 31X 9feier s &1 9t ey greft

a) 7.2 A gfaiomad feem & b) 72 A gferoTacd feem &

c) 72 A IIATEd feem & d) IS URT AR I81 grafr

33.  Acircular loop of radius R carrying current 1 lies in x-y plane with its centre at origin.
The total magnetic flux through x-y plane is :
a) directly proportional to | b) directly proportional to R

C) directly proportional to R>  d) zero

33T R 1 Toh geiTehR o Toreel 4RT | FaTigd gl 8, x-y del & &ud 8, foraen
ohe; 7T foig I &1 X-Y o ATETH & FHol I holehdl 8-

a) | o T HTeTdTicIR b) R .o TIeY 3TeTdTIcIeR

¢) R?e &er 3reqanfdien d) =T

34.  Which of the following statements is not correct?
(a) Whenever the amount of magnetic flux linked with a circuit changes, an emf is
induced in circuit.
(b) The induced emf lasts so long as the change in magnetic flux continues.
(c) The direction of induced emf'is given by Lenz’s law.

(d) Lenz’s law is a consequence of the law of conservation of momentum.

eAfaT@a & & i I1 FUT TET 61 872

(a) ST 871 IRYY & T eI FoleFd JdTg T AT HoR@aa grar g, aRuT &
Teh facTargsh aof IR gl ¢ |

(b) IR TaE[T AR o1 T Aok TEAT & ST cToh Jeeh1 Felarl H TR STRY
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(c) IR e gt aTee T T T oot o VA AT T TS B
(d) Sleof T T TAIT o TETOT o st &7 IRoTA g

35. The self inductance L of a solenoid of length /and area of cross-section A, with a
fixed
number of turns Aincreases as
(@) /and Aincrease
(b) /decreases and A increases
(c) /increases and A decreases
(d) both /and A decrease

/oIaTS 3R A 3TIEY T o &Tthel AT N T TR T&AT hr IREATToIhT T T-IRehed
L SeaTg

(@) /3INAF IR W

(b) /ECst I TAT A & g T

(c) /96T W 3N A ged I

(d) ST /TAT A §E.A TR
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